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Correction   

 

Soustraire des nombres décimaux        

❶ Pose et effectue ces soustractions 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

❷ Complète ces soustractions  

 
 

 

 

89,45 - 7,34 = 

     
 

 

  8 9 , 4 5 
 -  7 , 3 4 
  8 2 , 1 1 

 

 306,87 - 76,8 =  

 

  
 

   
 

 3 0 6 , 8 7 
-  7 6 , 8 0 
 2 3 0 , 0 7 

 

 746,14 - 49,5 =  

 

         

  7 4 6 , 1 4  

 -  4 9 , 5 0  

  6 9 6 , 6 4  

 
 

   

     
  

  3 0 7 , 5 0  

 -  5 4 , 9 7  

  2 5 2 , 5 3  

 307,5 - 54,97 = 

 6 7 2 , 8 0 

-  5 7 , 4 7 

 6 1 5 , 3 3 

672,8 - 54,47 = 

 5 0 8 , 0 0 0 

-  6 2 , 4 5 7 

 4 4 5 , 5 4 3 

508 - 62,457 = 

 5 9 7 , 4 8 

- 3 5 2, 4 7 

 2 4 5, 0 1 

 4 6 8 , 7 5 

-  1 9, 0 9 

 4 4 9, 6 6 

 8 5, 4 6 1 

-  5, 6 7 3 

 7  9, 7 8 8 
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